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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)     (02) 

          





       


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Section–A

–

Long Answ er Type Questions

  2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. Discuss the importance of statistics in modern and social

life.





2. Define coefficient of correlation. Discuss its significance

in statistical analysis.



 

3. What do you understand by business forecasting ?

Discuss the techniques and the important theories of

business forecasting.
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        



4. Describe the organization and functions of Central

Statistics Office (CSO) in India.





5. Find the quartile measure of skewness from the

following table :

Size Frequency

0—10 2

10—20 5

20—30 10

30—40 20

40—50 3

50—60 2

60—70 2


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 

0—10 2

10—20 5

20—30 10

30—40 20

40—50 3

50—60 2

60—70 2

Section–B

–

Sh ort Answ er Type Questions

  4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

     (08)      
(08)
(04) 

1. Describe the essential characteristics of a good

questionnaire.



2. Explain the various methods of primary data collection.


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3. Explain the various methods of skewness measurement.



4. Distinguish between diagrammatic and graphic

representation of data.

 

5. Describe the uses and limitations of index number.



6. Explain the mathematical model of time series.



7. Explain ‘Simple Linear Regression’.



8. Calculate the median and mode from the following

series :

M ark s No. of Student

0—10 15

10—20 25

20—30 52

30—40 56

40—50 78

50—60 80

60—70 70
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

 

0—10 15

10—20 25

20—30 52

30—40 56

40—50 78

50—60 80

60—70 70

**************




